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Joe’s study: > 2 Hits within two layers & pedals
- but an event is NOT included it hit in the dummy detector

06/03/2023 Ce Zhang | muEDM Liverpool



Setup Overview

* Two layers with pedals

- ’—‘~—%-_~~
/X// S T~<dummy layer
7’ ~

06/03/2023 Ce Zhang | muEDM Liverpool

Joe’s study: > 2 Hits within two layers & pedals
- but an event is NOT included it hit in the dummy detector

My update on this work (as a starting practice):
- Take into account the hits in the dummy layers

- Still > 2 hits required in real layers (after/before the dummy)



Results

Asymmetry of e momentum
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Results

Asymmetry of et transverse momentum
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